Basic Atomic Structure Worksheet

1. The 3 particles of the atom are:

a. pf‘oJ(on
b. _Qlectcons
C N2l cons
Their respective charges are:
a. S)Q&;i‘. e
b. nNea a+,ve
c. i i
2. The number of protons in one atom of an element determines the atom’s __| Aln"-\ "‘\l , and the
number of electrons determines the ChO\f‘% ¢ of the element. J

3. The atomic number tells you the number of p tolons in one atom of an element. It also
tells you the number of e\eck cons in a neutral atom of that element. The atomic number
gives the “identity” of an element as well as its location on the periodic table. No two different elements will
have the __ SN @ atomic number.

\

4. The o of an element is the average mass of an element’s naturally occurring atom, or
isotopes, taking into account the _ N & %S of each isotope.

5. The O tomit YNGSS  of an element is the total number of protons and neutrons in the

_QMQ_\%__ of the atom.

6. The mass number is used to calculate the number of __ Y )Qg,f[f()[],ﬁ in one atom of an element. In
order to calculate the number of neutrons you must subtract the Q'l’l)m i Nummber from the
atomiC Mass.

7. Give the symbol of and the number of protons in one atom of:

Lithium L1 N Brontine: __ PO D
Iron Fe Q 7 Copper Cu X G‘
Oxygen O <g Mercury H Q ?5 o
Krypton Kf‘ 3 (0 Helium H éJ (Q
8. Give the symbol of and the number of electrons in a neutral atom of:

Uranium u q Q lodine I 53
Boron B 5 Xenon X e 5 L’
Chlorine Cl l -z

9. Give the symbol of and the number of neutrons in one atom of:

(Mass numbers are ALWAYS whole numbers...show your calculations)

Barium 0 - b (6 Bismuth Q)'\ 2 Q«Oq "Cﬁ?):la(o
Carbon C r -3 = ':l[ Hydrogen H I el O

Fluorine F : I 0[" °1 s 10 Magnesium M a . dH~ 12 la
Europium E-q: 153"(02) s %Ct Mercury H-qj: A0\~ {0 = Ia\




